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SCIENCE
Full Marks — 80
Pass Marks — 20
Time : Three hours
Attempt all questions.
The figures in the right hand margin indicate full marks for the questions.

SECTION-A
(CHEMISTRY)
Marks — 26

Answer Question Nos. 1 to 4 in a sentence, a word or a phrase
or an equation.

1. Why do He, molecules not exist ? 1
He, mef@ofmof mefnf Spefse ?
2. Whydo ionic compounds conduct electricity in molten state ? 1

CATET BRMEEROMO! TRUsIcsal Feerpelln maey ESIRC WTF A0S
AR mefmfe 7

3.  Urine sample of a patient was found to contain excess of uric acid. What
will be the pH range of this urine sample ? 1

TeE WRM R0 wof sEefr Tofs Bacee fws sneeel 7o oot pH af fo
Tof mefe ©KE 7Eme?
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4.

Write the reaction between agueous solutions of sodium hydroxide and
acetic acid. 1

SOITR BREE CPRIRE ARAPTORR TROU TOfSiT Tofs ool fewss TR
efTeroes »32
Answer Question Nos. 5to 8in about 30 words.

Nitrogen (At. No. 7) and phosphorus (At. No.15) belong to the same group
of periodic table.

Using the usual symbols describe how N will combine with P to form a
simplest compound. Give the name of the compound. 2

exwerzee (At. No. 7) oron BoEze (At. No. 15) wof meafwafor sesmf
mem oRE ee Si N oron P efeeem oFs RN TREE EFMSEs TR
EERT THEOTET! AKSO FRFT W8 OffEI TF ofZftear SIS Bmmwes
wamt RRD @i

How are the following pairs of compounds related ? 2
EE Miets mRmaeart zadofom! el kel Sesme?

(i) CHs. CHOH.CH3and CHaCH,CH,OH

(i) CHa.CH=CH.CH;and CH3.CH=CH;

Draw a neat labelled diagram for the electrolytic refining of impure Nickel
indicating the electrolytic bath to be used. &

orOEs CfEey FeTRererofomt FRIT (PURTSE FTD TH CiD4fT wemem
RR(D 2% TROD RE8 offenaels sergatend T Pl

General formula for a homologous series of compounds is C,Hz, + 1 COOH.
Write the chemical formula of the first member of the series. What product
will be obtained when this compound is treated with sodium metal ? 2

ARSM TFE BRfEeaofomf zzea3 2eke wof C H, . COOH efi TATE
EriETs Canf BenRe BRI BRREes Tof oParey R sfever met Emef i

51 MB 19 Sc (N) 2 Contd.



10.

1.

12.

Answer Question Nos. 9 to 11 in about 60 words.

Show the classification of the first twenty elements (at. no.1 to 20) in
accordance with the Modern Periodic Table. 3

TRt erse 1 F 20 Bl Feffeewolis Rase el s eEAf RERIRTT
ofeRmm TH Bl

With the help of a suitable example, describe the general method used for
the extraction of metals of low activity from its concentrated ore. 3

Cmstafsl TERES FeRS TF (PIRTEs Taant QUETmm ST TF RCE WHAF
TRV @FEC OERTT STH

Starting from sodium chloride, briefly describe the preparation of sodium
hydroxide and baking soda. 3

Srfen ERdER offTeem PERE AREPTOR TROD 3 (PR EYRC
MEET® AREH OFSMC BRI

Answer question No.12 inabout 1 00 words.
llustrate the following reactions with suitable examples. 5
FRf afTeroTefiof RT8 Farm SKCC B
(i) Oxidation reaction
WIrefFEeoT afTeTrone
(i) Thermal deccm‘ﬁosition reaction
fo BReTAes afTemoe
(iii) Exothermic reaction

Po misemm afTemros
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(iv) Double displacement reaction
753 AfOMenReEY efTemoe
(v) Enzyme catalyzed reaction

CeEZERT RReD Mos e TemeE

SECTION-B
(PHYSICS)
Marks — 26

Answer Question Nos. 13to 16ina word or a sentence each.

13. Whatis electromagnetic induction ? 1
e rTEtRe R FERTOT I5E0f mafet 7

14. State Fleming's right hand rule. 1
Eeerfilm 854 Aeanf TfRrg B

15. You are provided a resistor, a voltmeter, a battery and a key. Draw an
electric circuit using the given components, that may be used to measure
the potential difference across the resistor. 1

CPEE ezl TR, SEI4RIe TR, 3°wef T wrknl | TR mee |
ARefs RERIOMmO! ofefeese Feemsefm O Esd Tk 0= | kR

gezfomeanf FRE TfEmf MR TofRey et wesn offers
Bwa'sel |

16. Draw a ray diagram of formation of image for an object placed in front of a
convex mirror. 1

FETEI® Fioe THIM RRDR SHE M8 TR R cerEmf e RRRER RemE
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Answer Question Nos. 17 to 20 in about 30 words each.

= 17. Awire of 7 Q /m is turned in the form of a circle of diameter 2m. Find the
resistance across the ends of the diameter. 2
7Q/m 3 55 TE ARRERE 2m I QTN WHT BPTOTE® | AReWaw?
AXIE WefR Cvas @ezfOR°Ee BRT M IS |
18. Explain giving reason why the sky appears blue to an observer from the
surface of the earth ? 2
MefTEfm Srns &5 Kl whRe TRiiof 32 EXEe Sels TofMf ke mRe
OTHTT K7
19. What are two merits of using wind energy ? 2
Rfes seeel ofzfecsm! @ees wets @afe ?
20. Give any four characteristics of 2 good source of energy dr%=2
=T 5o Eeerl BFEOER RUOR RaTRT KR 0
Answer Question No. 21 to 23 in about 50 words.
21. Mention three advantages of A.C over D.C. 3
A.C. t D.C.amf »°er ¥&°UXS WAR MIGC B Il
i 22. An electric heater marked 1200 w operates 3 hours/day in a house. What

will be the cost of energy to operate it for 5 days at Rs. 2.00 per unit of
energy ? i

$800 W 3F Semrwefmmd Afwe TR CURE MO & M RO5 3% TRa offed |

Reaziml F=ef4 ¢ & 2 8.00 MPEWf RO R4 sof ofzfeesa o9 @R XmEme 7
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23. What is critical angle ? State the conditions of total internal reflection of
light ? _ 1+2=3

ERTRIEPY TOMY AFEOf BT ? RO WY FERETeT STESTOT Dot
FEHe CHE EfSHOMTR R

Answer Question No.24 in about 100 words.

24. Describe the working of an electric motor by indicating the role played by
the different parts used to construct the same. 5

FSTRAIT RWe TRE kY OMME Xefs ogrofoae ¥ars Ssrofn T Smrye
QRS Fa WEMe AREE OTRTT BT

SECTION-C .
(BIOLOGY)
Marks - 28

Answer Question Nos. 25 to 28 in one sentence :
25. Whatis a reflex action ? 1

afE2 e T rme @oft® Smsi

26. Which organ is called the gustatory organ ? 1
HAFE TATEE MowRel Tane meme 7
27. Define food chain. 1

TH X WAKE EEM° PO

28. “Apart from providing oxygen, trees also help in the purification of air in
many cities.” Justify the statement by giving one point. 1

"TTofzee MmN AFSs T4we SMESIOMIT MRS CIOfE (0T TRER KD
MO I " REROF RART ABC MOBES THY I I
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30,

31.

32.

33.

Answer Question nos. 29 to 33 in about 30 words.
Describe briefly the process of budding in the yeast. 2

Rfcs HYTE FRAEMINT T (Feme Bos |

Name the hormones responsible for the puberty in males and females.
1+1=2

oMMl Cha gmfofng Meew! PIATE Aameolmn mal mefc BR?
Give two significance of transpiration. 2
BETOMemenf Hees Terwm 55w i

Differentiate between renewable resources and non-renewable resources

with suitable examples. : 2

CPRTAEE RE MOHSFOMNN  CPTATS Suy MOLSHOMN @el FeETsme RH:
RUFFT SHCC RIS |

Draw a neat diagram of longitudinal section of a flower and label ovary,

style and stigma. 1+1=2

we-pees dnf SmNMRATY CFIoent OreF Tk FEmen e, opsy TR
oRfmERn ZEFOfm 35 1

Answer Question Nos. 34 to 36 in about 50 words.

How can the flowering plants be propagated without using seed ? Predict
two advantages of such type of propagation. 3

< M MESIOMR Fe oOfefTeae mene TS MEs! RROM PR RIVETe 7
TOMAFS MESTOM O FMEMe BOs THOTN 75 Bers Tois 59 |
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35. Explain the role of decomposers in an ecosystem. 3
REPOIORR UHRE alEFTZeofIt el 50 35me Bosi

36. Identify how deforestation leads to many far reaching consequences ?

Give three points. 3

S EPIEING FWE ERCN TR Thil TF BERT DUATEW 7 TR CARR

sz il
Answer Question No. 37 in about 100 words.

37. Explain the evidence of evolution from comparative anatomy and

morphology. 5

RrEmErt ERmaeRls TURR Thal RoRSeiif BIaen OTere 3os |
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